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. Ac, Ac; .

Y(z) = cosh puz — ¢ 5 sinh piz + i C2 sinh pz, (2.85)
el el
DDDDDD‘M@,DDa@)DDDDDDD

)(2) = [ih(2)] €, (2.864)

. Ac A2
()| = {[cosh? uz — —= sinh 2uz + ——— sinh? pz 2.86b
vl le? 2P (2:560)

Ac; sinh

a(z) =tan~! CiSIMAZ (2.86¢)

p|c|? cosh pz — Ac, sinh pz’

0000(28) 0000 (286) 0000000000 OOO

Ac, Ac; . .
PV (z,y,2) =R [(COSh wz — |C|2 sinh pz + 14 |C|2 sinh uz) cosly exp{ik(z — ct)}
ple e
(2.87a)
= lzﬂ(z)| exp(kc;t) cosly cos{k(z — ¢, t) + a(z)} (2.87Db)

0000S=1000000000000000 ¢/ 00000000000000 250
000000000000 0000000000000000000000000000
0000000000000000000000000000000 = —a(z)/k+const
000000000000 000000
00000000000000000 ¢ =8¢ /02, 00 o =—0¢' /0y, v' =y /0x
ooooooo

oo #'0
Ac, Ac; ,
0 (z,y,2z,t) =R [(u sinh pz — ﬁ cosh pz + zﬁ cosh uz) cosly exp{ik(x — ct)}
c c
(2.88a)
= |0(2)| cosly cos{k(z — ct) + ag(2)} (2.88Db)
) Ac, A2
10(2)| = \//ﬂ sinh® iz — % sinh 2pz + BE cosh? juz (2.88¢)
Ac; cosh iz

o ! 2.88d
ag(2) = tan {M\CP sinh pz — Ac, cosh pz } (2:884)
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025 0000000 « 0000000000000 00000000k =
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goood

W= 1 0\ 511/
(i)
—]“" ((Az =)0 + A }} (2.892)
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